
7E 𝑹𝑪𝒐𝒔(𝒙 ± 𝜶) & 𝑹𝑺𝒊𝒏(𝒙 ± 𝜶) 

 

1. Show that: 

3𝑠𝑖𝑛𝑥 + 4𝑐𝑜𝑠𝑥 

Can be expressed in the form: 

𝑅𝑠𝑖𝑛(𝑥 + 𝛼)  

𝑅 > 0  

0° < 𝛼 < 90° 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2. Show that you can express: 

𝑠𝑖𝑛𝑥 − √3𝑐𝑜𝑠𝑥 

In the form: 

𝑅𝑠𝑖𝑛(𝑥 − 𝛼)  

𝑅 > 0  

0 < 𝛼 <
𝜋

2
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Quick Shortcuts and patterns: 

 

 

 

 

 

Key point: This skill helps us reduce two trigonometric functions with the same angle that are being 

summed together to one single trigonometric function. 

 

Where could this skill be useful? 

 



3.  

a) Express: 

2𝑐𝑜𝑠𝜃 + 5𝑠𝑖𝑛𝜃 

in the form: 

𝑅𝑐𝑜𝑠(𝑥 − 𝛼)  

𝑅 > 0  

0° < 𝛼 < 90°  

 

 

 

 

 

 

 

 

 

 

 

 

b) Hence, solve 2𝑐𝑜𝑠𝜃 + 5𝑠𝑖𝑛𝜃 = 3, 0° < 𝜃 < 360° 

 

 

 

 

 


